N = 0l & At & Ml A

2018 & =04 LBHSIH 2R ZEED
2N 2EECY
My o2AnC AW s
Sl HBPSY S4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SHEEED 18,997,258 16,263,289 2,733,969
= 1,841,267
J| 112,797
< 6,796,800
Al 10,246,394
SHFECE HAYH 25 18,886,763 16,176,597 2,710,166
= 1,841,267
J| 112,797
< 6,796,800
Al 10,135,899
MEd=sd |4 3,306,545 3,737,922 AN431,377
= 1,745,555
< 234,956
Al 1,326,034
AEZsHATHAA 89,600 89,600 0
402 RI2HXt20l 89,600 89,600 0
03 212t EAHS HI 89,600 89,600 0
Ozezdsgy NSE & MMM X3
500,000& *224ha*80/100 89,600
ASANESAAENS S4 12,000 12,000 0
< 3,600
Al 8,400
402 RI2EXt20l ™ 12,000 12,000 0
< 3,600
Al 8,400
02 RIZt X2 AL EZ (01X ) 12,000 12,000 0
ONBAYSY VBAUNSK F4
12,000, 0002 14! 12,000
= 3,600
Al 8,400
JEedsiE T N 12,000 18,000 A 6,000
< 3,600
Al 8,400
402 RIZEX201 A 12,000 18,000 26,000
< 3,600
Al 8,400
02 LA TEALEZ(0IETHR) 12,000 18,000 26,000
Oz ad elessets 228 X&
12,000, 000& 14! 12,000
< 3,600
Al 8,400
dEtdsy elmete= 4,000 4,000 0
301 L2 LS 4,000 4,000 0
09 &AL HI 2 &S 4,000 4,000 0
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ool HEASY S4 (29l & 2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEEEEER NI S
0,000& *402!+13] 2,400
OXgtdsgol Jlzsus 24
40,0003 *402! 13| 1,600
dFsLHZ =M 60,000 60,000 0
301 gt d= 60,000 60,000 0
1MIIEELES 60,000 60,000 0
OZEZFALSEHMAEN XA 500,000 *120ha 60,000
SIEUZ K& (XA 305,319 305,319 0
402 BIZEXHE 0| A 305,319 305,319 0
03 212t & AL S HI 305,319 305,319 0
ORSPsY RUH2 X
930,000& *469ha*70/100 305,319
sII&2dlg XN& 2,137,600 2,348,800 A 211,200
= 1,336,000
< 160,320
Al 641,280
402 BI2HX=01 M 2,137,600 2,348,800 A 211,200
= 1,336,000
< 160,320
Al 641,280
03 212t &AL S HI 2,137,600 2,348,800 A 211,200
O®JI&ddlg XA 2,137,600,000& 14! 2,137,600
= 1,336,000
= 160,320
Al 641,280
AP seEels A 31,500 30,000 1,500
< 9,450
Al 22,050
301 et A= 31,500 30,000 1,500
< 9,450
Al 22,050
MIIEEES 31,500 30,000 1,500
OHBASMSAUE =AY X
31,500,000 » 14l 31,500
< 9,450
Al 22,050
TEd sk 32 15,300 13,464 1,836
< 4,590
Al 10,710
402 BIZEXHE 0 A 15,300 13,464 1,836
< 4,590
Al 10,710
02 LA THEALEZ(0IETHR) 15,300 13,464 1,836
ozad skl 2= 15,300, 000& 14 15,300
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224,720
28,893
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402 BI2FX=01 M

= N W

321,029
224,720
28,893
67,416

549,566

N 228,537
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=z N W
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224,720
28,893
67,416
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160
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115,000
115,000

115,000

H

115,000
115,000

115,000

115,000,000& * 14!

H

115,000

115,000
115,000

115,000

=z N H

10,000
7,000
600
2,400

15,000
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7,000
600
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15,000
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600
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X ZH -
L= B

el

EECS Y
2ATCS WY L3
NeB=Y |4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TEA=SsAM K& 21,000 18,000 3,000
402 BI2H X 20| M 21,000 18,000 3,000
03 I 2t EF A HI 21,000 18,000 3,000
OS2I E2 DEZASA2MA IS
0,000% *600=2*50/100 21,000
dEH ASE isSLHAH 29,400 0 29,400
402 SI2FXHE0| & 29,400 0 29,400
03 DI 2t EF A HI 29,400 0 29,400
OF&A H RolstzetHd K&
210,000 *200ha*70/100 29,400
SINsSIM AN 78,237 40,373 37,864
= 31,035
= 14,615
Al 32,587
402 SI2FXHE0| & 78,237 40,373 37,864
= 31,035
= 14,615
Al 32,587
02 QX2 A E X (0| THSH) 78,237 40,373 37,864
ORIsMNM A 78,237,000 = 14! 78,237
= 31,035
o=t 14,615
Al 32,587
ZAHX GAP EXE 4 BA 63,600 50,000 13,600
= 31,800
= 9,000
Al 22,800
207 SO0 & 63,600 50,000 13,600
= 31,800
== 9,000
Al 22,800
01 | 63,600 50,000 13,600
OF4&X GAP EXE4 24 63,600,000 14 63,600
= 31,800
= 9,000
Al 22,800
Wit 24 443 250 364,625 78,625
J| 10,000
& 86,400
Al 346,850
U= HES MY 100,250 80,625 19,625
402 SI2F 20| & 100,250 80,625 19,625
01 BIZtXIEANYE X (KM ) 71,000 71,000 0
Om+El a22) 7Y N
1,500,000 *20CH x50/ 100 15,000
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B - ool HSAS - BE = e HlnE2
O™ 2L 7Y X
4,300,000& *8CH*50/100 17,200
O+==< X A&
4,000, 000& *8CH*50/100 16,000
OWgHEI
650,000& *24CH x50/ 100 7,800
Ol S8& o X
,000,000% *15CH *50/ 100 15,000
03 212t EF ALY 29,250 9,625 19,625
OAMI 880 XA (=sEEAMY)
3,000,000 *9CH*25/100 29,250
=MAAIE S e X 25,000 37,500 A 12,500
J| 10,000
< 3,000
Al 12,000
402 QI2H X201 M 25,000 37,500 A 12,500
J| 10,000
< 3,000
Al 12,000
02 P2 RHE2ALEZ(0IETHR) 25,000 37,500 A 12,500
On= nZH st 25,000,000 =14l 25,000
J| 10,000
< 3,000
Al 12,000
2 DAY 40,000 246,500 A 206,500
402 BIZEXHE0I A 40,000 246,500 A 206,500
03 RIZtRI &AL S 40,000 0 40,000
Os80a% SEEAAMY)
0,000,000& *8CH *25/100 40,000
+3¥aE HI(= 278,000 0 278,000
< 83,400
Al 194,600
402 RI2EX=201 A 278,000 0 278,000
S 83,400
Al 194,600
02 QI EAILEZ (OIS ) 278,000 0 278,000
Ot W™ 50,000,000& * 14! 50,000
< 15,000
Al 35,000
OAMIt ESUIAXH 98,000,000& =14l 98,000
< 29,400
Al 68,600
Otz Mg AHI| XA 30,000,000% =14l 30,000
< 9,000
Al 21,000
Ot aa HofZHl X  100,000,000& 14 100,000




EA: 2E D
Hu: 2ATC AMA U
Sl DAY T (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 30,000
Al 70,000
2AusEsN=E 4 765,083 1,012,440 N 247,357
J| 72,797
= 160,224
Al 532,062
DEEUSH MAXH X 26,290 25,776 514
402 SI2vXH=20| ™ 26,290 25,776 514
03 DI 2t EF A HI 26,290 25,776 514
Ogdx NEZSA SAXNS (S, MEA
M, 2= Kl /54ha) 6,200¥ *5,500= x50/ 100 17,050
Ogox DNEXSA SHMAI(ME2HIZ)
11,2009 *2, 750 x30/ 100 9,240
NEZE ESHZ THHH A 71,750 71,750 0
402 SI2vXHE0| ™ 71,750 71,750 0
01 QI EANSEX (M) 71,750 71,750 0
OUets T ™M X2
4,000,000 *10ha*50/100 20,000
OHldotA e 258 X282 &2y &X X
& 4,500,000 *23ha*50/100 51,750
ANER0 D))= sH4AH 12,500 25,000 A 12,500
= 3,750
Al 8,750
402 12V XHE0| & 12,500 25,000 A 12,500
= 3,750
Al 8,750
02 CI2ZEXIE A E X (0| ETHS) 12,500 25,000 A 12,500
OAMERJ0 BHINSE XSAS
12,500,000 = 1Al 12,500
= 3,750
Al 8,750
HYs2A SUis 2X 146,250 130,000 16,250
& 43,875
Al 102,375
402 SI2F 20| & 146,250 130,000 16,250
& 43,875
Al 102,375
02 QX2 A E X (0| & THS) 146,250 130,000 16,250
OHlIgdt2A SUSHAIE 146,250,000 x 14! 146,250
== 43,875
Al 102,375
MIRE A2 MHEAIE X 210,000 0 210,000
= 63,000
Al 147,000
402 SI2vXHE0| ™ 210,000 0 210,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 63,000
Al 147,000
02 LA TEALEZ(0IETHR) 210,000 0 210,000
On=M& MEAHL 75,000,000& » 14! 75,000
< 22,500
Al 52,500
OMXsE MNEAL 131,250, 000& 14 131,250
< 39,375
Al 91,875
Ostg oxzel 22 Ty X
3,750,000 » 14! 3,750
< 1,125
Al 2,625
g A XA 75,000 37,500 37,500
< 22,500
Al 52,500
402 BIZHXHE 0 A 75,000 37,500 37,500
= 22,500
Al 52,500
02 QI EAILS EZ (01T ) 75,000 37,500 37,500
OfYats MAXA 75,000,000 =14l 75,000
= 22,500
Al 52,500
2 ME8Us N 121,273 50,000 71,273
J| 48,509
< 14,553
Al 58,211
402 RIZ2HXt20l ™ 121,273 50,000 71,273
J| 48,509
< 14,553
Al 58,211
QI 2AILSEER(OIEME) 121,273 50,000 71,273
OQlar THHHAIZ B Oist XI&
114,100, 000& * 14! x50/ 100 57,050
J| 22,820
= 6,846
Al 27,384
OHA THHHAIE STHat X
128,446,000 =141 x50/100 64,223
J| 25,689
< 7,707
Al 30,827
SteA ZEF ELHEM XA 19,500 19,500 0
It =01 A 19,500 19,500 0
DIt EF AL HI 19,500 19,500 0
OtlgoteA a8 ELMEH X
600,000& *65ha*50/100 19,500




2N REECDH
Hu: 2ATC AMA U
Sl HUSBNE 84 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HAYohE LH(EHI) 12,800 12,800 0
< 2,560
Al 10,240
402 2I2H X201 M 12,800 12,800 0
< 2,560
Al 10,240
03 212t &AL S HI 12,800 12,800 0
O HollsHH X 12,800, 000& 14! 12,800
< 2,560
Al 10,240
OIARZHATHU (B X) 9,000 9,900 A 900
< 2,700
Al 6,300
402 RIZEX20l A 9,000 9,900 A 900
= 2,700
Al 6,300
03 212t &AL S HI 9,000 9,900 A 900
Oolah &gd THEl XIE A 9,000,000 » 14 9,000
< 2,700
Al 6,300
A0 SUs N (AMERAMSEUHE)(=2) 7,500 0 7,500
J| 3,000
< 900
Al 3,600
402 RI2HXt20l ™ 7,500 0 7,500
J| 3,000
< 900
Al 3,600
02 21t 2 AL EZ (OIS ) 7,500 0 7,500
OAE&0 sthst 7,500,000 » 14! 7,500
J| 3,000
< 900
Al 3,600
A0 s X2 (25 HIJHE THHAIE)(21) 53,220 0 53,220
J| 21,288
S 6,386
Al 25,546
402 RI2EX=20| A 53,220 0 53,220
J| 21,288
< 6,386
Al 25,546
02 QI EAIL EZ (01X ) 53,220 0 53,220
O HIJIE THHHAIE 53,220,000& =14l 53,220
J| 21,288
< 6,386
Al 25,546




SN 2ETCD
M 2ZC A U
2 siE 88 € S38Hd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
stE2 B2 £ R3HE 1,220,543 1,559,877 A 339,334
= 3,412
< 60,842
Al 1,156,289
sSHatE 88 2t 138,000 138,000 0
201 Let249] 28,000 28,000 0
01 At 22l 28,000 28,000 0
O1 gt=2Hl 28,000
PEEDN ¥ sSHE 2=
500& =10, 0000H 5,000
>DAESXGHE Z210& 2,300,000& 200 A +53 23,000
402 RI2FXt20l M 110,000 110,000 0
03 212t EF AL HI 110,000 110,000 0
OEEDNl AHIEE =8 gdAMdY 110,000
>DEEE £E£0/(1kg)
4,000% *15,00004 *50/100 30,000
> EE0| it (20kg)
5,000% *12,00074 *50/ 100 30,000
PES0 BR(MS,US)
100,000, 000& * 14 x50/ 100 50,000
sSE&= A 2435 93,718 86,709 7,009
101 @124l 20,718 19,709 1,009
04 JIZHHZ2XNHESE S+ 20,718 19,709 1,009
O=sgo MEAE 243 X2 AR 20,718
>ll=s 60,8003 x121%1652 10,032
D a0tz 60,800 x 11«21 +33] 3,831
PEsd 60,8003 x101+36L 2,189
> ARG 60,8003 »1Q1+x8 487
D> & Mz AlH| 130,000 » 121 «9& 1,170
>us2 Il 120,000 »1Q1 x93 1,080
D=0z 18,787,600& *4.5/100 846
DPALEE 18,787,600& *3.06/100 575
DEINRAEH 574,901 «6.55/100 38
>PIESEE 18,787,600 *1.5/100 282
DATHE S 18,787,600 *1/100 188
201 LBt Y| 41,000 34,000 7,000
01 At 22l 41,000 34,000 7,000
O1 et=2Hl 41,000
DsSatte HAHHEFH(MEAZ)2Y
6,000,000& » 14! 6,000
DsSas ANHAHBEH ER
5,000,000& » 14! 5,000




EA: 2E D
Hu: 2ATC AMA U
Sel SN2 B2 U RS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
DsEANMES ZHHEEH 29
30,000,000 = 14! 30,000
202 04| 2,000 3,000 A 1,000
01 2L I 2,000 3,000 A 1,000
OsS¢e B 2 OHHERES ZX 0
2,000,000 =14l 2,000
301 LBt A= 2,400 0 2,400
09 HAIAHI EAZ 2,400 0 2,400
Osgol MEAHE AKX A4 A B4
60,000& *40¢! 2,400
401 Al HI L 2 0HHI 7,600 10,000 A2,400
01 Al&H| 7,600 10,000 AN 2,400
OsEAMS ZHABEH(MEAZ)EM 2
7,600,000 =14l 7,600
402 SI2vXHE0| ™ 20,000 20,000 0
01 It EANSEXR (M) 20,000 20,000 0
O=sEMES ZHAEEH(MEAZ) T X
20,000,000& = 14! 20,000
SHE S FEZS 702,500 561,900 140,600
402 SI2vXHE0| ™ 702,500 561,900 140,600
01 It E A EXR (NI ) 120,000 100,000 20,000
OsMSZEM HZE X
1,200 x200, 0000H x50/ 100 120,000
03 QI2tP|EFAFE HI 582,500 461,900 120,600
OF&A s a7 X XA
352 %680, 0000H 50/ 100 11,900
OSASEIET ME N (EED S IHE=
570,600,000 « 1Al 570,600
SEMNELEENY X 7,000 7,000 0
& 1,400
Al 5,600
301 et A= 7,000 7,000 0
& 1,400
Al 5,600
11 J|EtE A= 7,000 7,000 0
OsS&E =584 XN 7,000,000 =14l 7,000
== 1,400
Al 5,600
T=ESAE RSNE 90,000 50,000 40,000
= 27,000
Al 63,000
307 212t0| & 90,000 50,000 40,000
o= 27,000
Al 63,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 90,000 50,000 40,000
O+==x22ddHd 4 90,000,000 =14l 90,000
= 27,000
Al 63,000
SEEESLHALIH 30,000 36,000 A 6,000
< 9,600
Al 20,400
402 RIZ2HXt20l ™ 30,000 36,000 A 6,000
< 9,600
Al 20,400
02 RIZEXt 2 AL EZ (01X TS ) 30,000 36,000 A 6,000
OZ2ZEE 43 Jlgtx4d  12,000,000& 141 12,000
< 3,600
Al 8,400
OZZZEANY 2IXH 3,000,000 » 14 3,000
< 1,500
Al 1,500
OZZEEAMY AIEEHIXA
15,000, 000& 14! 15,000
< 4,500
Al 10,500
=L SELUE SEHA 20,000 5,000 15,000
307 glz2tol & 20,000 5,000 15,000
04 QIZFHALAIH E = 20,000 5,000 15,000
OsStts SEEA 5,000,000& =43] 20,000
Xetd=Es0t = 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B & 30,000 30,000 0
OXleta =20t =X 30,000,000& =14 30,000
Xl etatul = A 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OXletat tf = Al 20,000,000 » 14! 20,000
Xetat #=22 =H 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
OXletet #2224 =] 10,000,000 * 14! 10,000
StEScE 22 2,500 2,500 0
= 750
Al 1,750
402 QI2FXt20l ™ 2,500 2,500 0
< 750
Al 1,750
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 2,500 2,500 0
OZ XA SEHASHAA 2,500,000% =14 2,500
= 750
Al 1,750
=E=4E HACHAE Zst 8,000 9,000 A 1,000
308 XXM SOIA 8,000 9,000 21,000
07 IXNSHHAURE = 8,000 9,000 A 1,000
Os4a& =& Ix3 =4 24
16,000,0002 * 14} *50/100 8,000
S8 6,825 3,768 3,057
= 3,412
< 1,092
Al 2,321
402 RIZEX20| A 6,825 3,768 3,057
= 3,412
< 1,092
Al 2,321
03 212t &AL S HI 6,825 3,768 3,057
OssHEH| 6,825,000& x 14! 6,825
= 3,412
< 1,092
Al 2,321
S4T EofEds XA 12,000 0 12,000
= 6,000
Al 6,000
308 XX EHHSOIA 12,000 0 12,000
< 6,000
Al 6,000
07 HIXNHHAR2E = 12,000 0 12,000
OSALEXEANY A2 2E2
12,000,000 14 12,000
< 6,000
Al 6,000
SAFLY 2435 X 50,000 0 50,000
< 15,000
Al 35,000
402 RI2FXt20l 50,000 0 50,000
< 15,000
Al 35,000
02 2IZt 2 AL EZ (OIS ) 50,000 0 50,000
O=sal3ed 43X 50,000,000& =14l 50,000
= 15,000
Al 35,000
AF=T2CE 45 13,151,342 9,501,733 3,649,609
= 92,300
J| 30,000
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EECS Y
2ATC WY L3
AxzC BH

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 6,254,378
Al 6,774,664
HE2ad=22eH K& 2,300 2,300 0
= 2,300
202 04d| 2,300 2,300 0
= 2,300
01 2L Y] 2,300 2,300 0
O&d82dx 22l N 2,300,000 1Al 2,300
= 2,300
FASAXA 1,120 2,020 A 900
201 Bt A H| 1,120 2,020 A 900
01 At 22l ] 1,120 2,020 A 900
O3 2g9=Y 1,120
Datngal Mofd =Y 70,0003 *x82!x23] 1,120
FFEE2H 477,168 202,256 274,912
201 et A | 113,097 115,181 N2,084
01 AtR 22l bl 33,310 27,410 5,900
O1 dEtx=2H| 7,300
>DEANSIG+EH| 200,000& «12& 2,400
PUsis ¥ 2= H& 300,000& *10&l 3,000
DNEETZE SHIE 250,000& = 1CH 250
DEXMIHME (3024 §2) 55,000 «3004 1,650
O3 2g9=Y 24,060
DRFZECAJS ¢ 70,000& x19921 23| 2,660
PIOIAZEE S =Y 70,000& *1221 %103/ 8,400
DN - MHE ZAYH 9,000,000& * 14! 9,000
Detuga AN FAE dAE
250, 0003 821 23| 4,000
O4 Il =4| 750
PEETZC OE ARMH Iol=
250,00021 %301 750
06 Lx2 1,200
PRSY ARY I LR
50,000& =128 =2 CH 1,200
02 3524l 79,787 87,771 NT,984
O18332= % HA 19,620
> 2K MA EJJFXI A 30,000,000& %x10/100 3,000
DEINRS 1,300,000& ~12& 15,600
D& HASSEX M2
10,000 x12& 120
PASXHMN(EESE) 250,000& *14] 250
DASA 2B (EEs=2) 600, 000& * 14! 600
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DAY E S 3l 50,0003 » 14 50
O3 A& EHlI s Xt 55,180
DRAFZFCEZTEUH A4 - EHl S22
25,000,000& =14 25,000
Ps2IEE € RAE=s 165,000& »12& 1,980
DEEHE & =23 ¥AEH
5,000,000 » 14 5,000
DEIANE & S FRNEF
4,000,000& =14 4,000
DAYOHE S A 300,000& =122 3,600
&I el 8 1,300,000 «12& 15,600
O4 Xtgd el 4,987
DI ALB(ZESE) 4,987,000& =14 4,987
202 O4dl 5,000 6,000 A1,000
01 = LH 4 Hi 5,000 6,000 21,000
OREZ PHSAXY AREX
5,000,000 =14l 5,000
206 M= Hl 7,000 7,000 0
01 =4l 7,000 7,000 0
OJ3FEE st MEE 2 M=l
1,000, 000& 14 1,000
OFFFEE AHXAN & Z2AHAX ME(RE) ME
=l 500,000& =123l 6,000
301 g4z 18,400 13,800 4,600
09 SAAHIEA S 18,400 13,800 4,600
OJFEE NS M- AH - 2HT A&
o= 120,000& *400! 4,800
O3=%EL U= -HE- -8g23s =4H A&
8,000& x500¢! 4,000
OStWZA AL A+ (YAS)
120,000& »40Q1 x23] 9,600
308 MtXIEHSOIH 276,671 0 276,671
08 WSII20HetE = 276,671 0 276,671
ONY ==M2 U JIDE D24 AHIBA
3t A& 276,671,000& x 14! 276,671
402 RI2EXt20| ™ 50,000 40,000 10,000
01 2I2F 2 A E = (KM 10,000 0 10,000
Ogtugal s¢t2 T X2
20,000, 000& » 141 x50/ 100 10,000
03 212t & AFH HI 40,000 40,000 0
Os.5,5¢2 AHddlH 22
100,000, 000& =14l x40/100 40,000
405 XtatE SHI 7,000 0 7,000
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0l &t o
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Osd&ts ME Set=0t 210 +¢

3,500,000 «2CH

7,000

7,000

H

Al

12,490,754

6,245,378
6,245,376

9,295,157

3,195,597

308 XM S0H

H

Al

12,490,754

6,245,378
6,245,376

9,295,157

3,195,597

%
133,739,000 & 14!

H

Al

= N

12,490,754
11,357,015

5,678,508
5,678,507

1,133,739

566,870
566,869

9,295,157

3,195,597

= n

120,000
90,000
9,000
21,000

120,000

402 QI2tXt= 01 ™

= Hn

120,000
90,000
9,000
21,000

120,000

02 (I RH2ALEX(0OIETHR)

Ol AxMEAE X&

120,000, 0003 » 14

= N H

120,000
120,000

90,000
9,000
21,000

120,000

sSaSOAE RN (LHEIEAY)

Al

60,000

30,000
30,000

60,000

y
Al

15,000

7,500
7,500

15,000

10,000, 0003 * 14!

5,000, 000% 14

y
Al

Il
Al

10,000
10,000
10,000

5,000
5,000

5,000
5,000

2,500
2,500

10,000

5,000

202 04l

15,000

15,000




EX: 2Z2ZC )
My o2AnC AW s
Sl AETC H43 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Jl 7,500
Al 7,500
01 2L Y| 5,000 0 5,000
O=2UWAEMHE OHAHE 5,000,000& *14] 5,000
Jl 2,500
Al 2,500
04 =Ml st B 10,000 0 10,000
OZ22AAEIME OHAHE 10,000,000 » 1Al 10,000
Dl 5,000
Al 5,000
301 et A= 15,000 0 15,000
Dl 7,500
Al 7,500
09 HAIAHIBEAZ 15,000 0 15,000
OsJt XA 88X A= 15,000,000& * 14! 15,000
Dl 7,500
Al 7,500
307 212t0| & 15,000 0 15,000
Dl 7,500
Al 7,500
02 AABHMANEEX 15,000 0 15,000
Ostu=s A48 15,000, 000& * 1Al 15,000
Jl 7,500
Al 7,500
HHSHAL(ZRZE=) 110,495 86,692 23,803
OleE2IH(2EFE= 1) 39,736 34,737 4,999
QIHARAY| (ZEZE EE ) 39,736 34,737 4,999
101 @1 21| 39,736 34,737 4,999
01 B 39,012 34,737 4,275
OAZ2AZ22E 10,003 & #1321 *300Al 2+ 39,012
03 2INHLZ2XHE %= 724 0 724
og&Ezzs4 724
PEHASAR(BFEECAE)
12,0663 191 x60 Al 2+ 724
J2dH (R ZEE ) 70,759 51,955 18,804
J2HH(2EEE W) 70,759 51,955 18,804
201 Bt A H| 26,229 24,315 1,914
01 At 22l ] 15,082 14,326 756
O1 getx=2H| 11,050
DEASY =24l 900,000& x12& 10,800
PNEETE SHIIE 250,000& = 1CH 250
O5 =&l 4,032
>Oor2t, 5222 8,000& x14021 33| x12& 4,032
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D HEREAH(REECS W)
D OI=EH(REESD (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 11,147 9,989 1,158
O1 2222 < HMA 7,731
>DREZ 1,930& 30021 x12& 6,948
DASXHM(AESE) 30,0002 = 1CH %90/ 100 27
DASIEAME 30,000& *14] 30
DASAEE = 600, 000& * 14! 600
DEFANNES S (AETS) 126,000& * 14 126
O4 XtEH ety 3,416
PEEUY XL (AE3E)
3,416,000& x 14 3,416
202 04 b 31,800 23,640 8,160
01 2LHOHI 31,800 23,640 8,160
OJI=2g2=80 bl 2,400,000& x12& 28,800
O2HEE HAREX 22 (I
3,000,000& *14] 3,000
203 R =&lY| 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0]
ORN2gI2F&Y| 250,000& x12& 3,000
405 XHoHF SHI 9,730 1,000 8,730
01 A&t = S F SHI 9,730 1,000 8,730
O=EAMI(2A) 7,000,000& x 14! 7,000
O 300, 000& *3H 900
O2XH(3oE) 100,000& 1504 1,500
OEXH(32E) 330, 000& 14 330




